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QUESTION 1

In which cloud deployment model do enterprises retain complete control over the construction and delivery of all cloud
services? 

A. hybrid cloud 

B. private cloud 

C. community cloud 

D. public shared cloud 

Correct Answer: B 

 

QUESTION 2

What are two key infrastructure components for data migration when planning a move to cloud? (Choose two.) 

A. storage 

B. network 

C. monitoring 

D. data mining 

E. high availability 

Correct Answer: AB 

 

QUESTION 3

A company is building a cloud environment to host applications. 

What kind of inter- component coupling is ideal for a cloud-based application? 

A. Tight coupling is ideal because intra-applicationmessaging is difficult in a cloud environment. 

B. Tight coupling is ideal because the company can easily scale the entire application up or down. 

C. The degree of coupling is not a factor when considering an application\\'s affinity for a cloud environment. 

D. Loose coupling is ideal because components of the application can independently scale based on need and impact
on performance. 

Correct Answer: D 
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QUESTION 4

An enterprise has migrated one of its Web-based database application to Amazon EC2 cloud with the database hosted
in the cloud. 

Which action will help save ongoing costs for this enterprise application? 

A. The database is configured to use 200 MB less memory. 

B. The database is configured to generate uncompressed backups. 

C. The database isconfigured to drop temporary tables and indexes. 

D. The database is configured to use compression for the databases. 

Correct Answer: D 

 

 

QUESTION 5

What is a function of image management? 

A. monitoring 

B. request services 

C. billing and metering 

D. discover and deploy 

Correct Answer: D 

 

QUESTION 6

What isthe scope of the service management capabilities as part of IBM Cloud Computing Management Platform
Reference Architecture? 

A. public cloud only 

B. hybrid cloud only 

C. private cloud only 

D. private, hybrid, and public cloud 

Correct Answer: D 

 

QUESTION 7

Which area of the current IT enterprise availability and redundancy components must be addressed in order to move to
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a cloud operational model? 

A. server capacity to service capacity 

B. workload availability to service availability 

C. application availability to workload availability 

D. server mean time between failures (MTBF) to service MTBF 

Correct Answer: C 

 

QUESTION 8

A company is transitioning many of their applications to a public cloud. 

Which statement is true concerning their application data and the public cloud? 

A. They can move application data to the public cloud without further analysis. 

B. They cannot move application datato the public cloud because the files require too much space. 

C. They must modify all their applications because data access mechanisms in the public cloud are different. 

D. They should carefully analyze legal and regulatory concerns for application databefore moving data to the public
cloud. 

Correct Answer: D 

 

 

QUESTION 9

Apublic cloud infrastructure should be architected to accommodate which business risk? 

A. over subscription of customers 

B. legal and regulatory non-compliance 

C. over achieving service levels committed to customers 

D. increased investment in surplus network infrastructure 

Correct Answer: B 

 

QUESTION 10

Which is an IBM product that is used to manage storage capacity for a cloud solution? 

A. IBM Tivoli Service Request Manager 
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B. IBM Tivoli Storage Productivity Center 

C. IBM ILOG Optimization Decision Manager 

D. IBM System Storage SAN Volume Controller 

Correct Answer: B 

 

QUESTION 11

Four different business units would like to utilize a shared services environment. 

What is a key characteristic of ashared services environment? 

A. all application workloads utilize the same infrastructure 

B. all servers, workloads, and storage systems run on the same network 

C. the business units agree to coordinate their systems downtime activities 

D. the business units must have the same service level agreements in place 

Correct Answer: A 

 

 

QUESTION 12

Which IBM offering enables companies to rapidly connect on-premise applications with applications running in a public
cloud? 

A. IBM Tivoli Cast Iron Cloud2 

B. IBM Tivoli Cast Iron Connection Manager 

C. IBM WebSphere Cast Iron Connection Manager 

D. IBM WebSphere DataPower Cast Iron Appliance 

Correct Answer: D 
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